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CHAPTER 4

4.1

FRACTION

[INCLUDING PROBLEMS BASED ON FRACTIONS]

BASIC CONCEPT
1
If an apple is divided into five equal parts; each part is said to be one-fifth (g] of

the whole apple. And, if out of these five equal parts, 2 parts are eaten; we say two-fifth

3)

3
of the apple is eaten or three-fifth [g] of the apple is left.

2
The numbers i and ) used in the statement, given above, are called fractions.

Sk 5
Each of these fractions indicates a part of the whole.
a
In fraction —, a is called the numerator and b
_ b’ | -. FRACTION = _umerator
Is called the denominator of the fraction. Denominator
a
Every fraction can be expressed as B where a and b are integers and b # 0
i.e. denominator is not equal to zero.
4.2 | CLASSIFICATION OF FRACTIONS
Types of fractions Condition Examples
1. Decimal fraction denominator is 10 or 1. 3 15 8
higher power of 10. 10 100 1000 10
2. Vulgar fraction denominator is other 2 4.8 28
than 10, 100, 1000, etc. ET7 48 10
3. Proper fraction denominator is greater 4 3 101
than its numerator. 5 7 o998
4. Improper fraction denominator is less L 8 B}
than its numerator. 593960 -
S. Mixed fraction consists of an integer 52 43 10d
and a proper fraction. g L b

If the numerator is equal to the denominator, the fraction is equal to unity (one).

4 -3 49 5
eg.— =1, — =1, — =1 and so on.
% 2 —3 49

Important : (a) — = —— = —— , a decimal fraction.

7 7x5 30
20 20x5 100 ’

(b) S hap ML ke e iRl , a decimal fraction.

500 500 x 2 1000 °

If the denominator of a fraction can be expressed as 10 or as snme'_
higher power of 10, it is a decimal fraction. el A
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Example 1 :
. (a) Convert : (i) 3-:2,- (ii) 2% into improper fractions.
(b) Convert : (i) %1 (i) -139- into mixed fractions.
Solution : ]
i @ 3% 4 3x';+2 =g:__ (Atis)

1  Denominator + Numerator
V&

I i
L=

8 @ 2x8+5 16+5 Ans
; (ii) 28 = e R (Ans.)
11  2%4 3

e R el 4) 1; |2

=2+ —i— B 2% b (Ans.)

19 3x5+4
4 i Celdl g
(ii) 5 5 5) :g |3
: -3+ =33 &S (Ans.)

D 1A ,.?;.--: LR I R R
- REDUCING A GIVEN FRACTION TO ITS LOWEST TERM

Steps : First of all find H.C.F. of both the terms (numerator and denominator) of
the given fraction. Then divide each term by this H.C.F.

Example 2 :
| 48 18 :
Reduce : (i) 80 (ii) 27 to their lowest terms.

48 S AP [Dividing each term by 12]

(Ans.)
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3 : ; 18 18 +9 2
‘.+ — = i e i r = —_ . Ans-
(i) Since, H.C.F. of 18 and 27 is 9 5 7 0. o (Ans.)
Alternative Method :

Resolve both the numerator and the denominator into prime factors, then cancel out
the common factors among both.

Since, 48 =P 2 X2 X2 %3 and B0=2%x2x 3 x5
48 _Zx/z/x2><2x,8/

[Cancelling out the common factors]

60  ZxZx8x5
g LA (Ans.)
5 5

44 | EQUIVALENT (EQUAL) FRACTIONS
Fractions having the same value are called equivalent fractions.

: 20 20-% . & 28 ;BT =
6.g., - Slnce, — = —s=— = ant = :
25 20N J9 " =30 =¥ 5

. Fractions -2—(1 and —2—-8— are equivalent, i.e @— = — = —
5 25 35 d LG SV gEiaiEe

4.5 | SIMPLE AND COMPLEX FRACTIONS

A fraction, whose numerator and denominator both are integers, is called a simple
fraction;, whereas a fraction, whose numerator or denominator or both are not integers, is
called a complex fraction.

) ‘Each of = Q-ENOUCE S e AR
6.g. i) Eaenn 8" 17 ° _15,ec., IS a simple fraction.
o Each of 5o =45 M4 et Woest.
(i) Each o 5/3' 8 ° 23 , etc., iIs a complex fraction.
7

EXERCISE 4(A)

1. Classify, each fraction given below, as decimal or vulgar fraction, proper or improper
fraction and mixed fraction :

- oits ol Ot 48 2
()i (i) ine (i) 1555 ) i (v) 33
2. Express the following improper fractions as mixed fractions :
Pt Foa i e _ 38 22
0 = ) (i) 5 (v) = v =
3. Express the following mixed fractions as improper fractions :
e L oA 5 50 v
(- 2= ) T (i) 37 (v). 2= v 1B
4. Reduce the given fractions to lowest terms :
B ke - oL A Wit | 18
Uk o i 5 (v) o5 ()" 58
36

Downloaded from https:// www.studiestoday.com



Downloaded from https:// www.studiestoday.com

5. State true or false :
12 T
(i) 40 an 16 are equivalent fractions.

;o d = ivalent fracti
(i) o5 and T are equivalen ractions.

Sdoghes oty g dll_)_g Suridigagse
(iii) 49’ 28’ 63 and - 40 are equivalent fractions.

6. Distinguish each of the following fractions, given below, as a simple fraction or a complex

fraction :
33
% %) - . =5
i 3 e i~ v) o
1 2
e § 84 f % i D
(V) . 2 (vi) £ 2 (vii) 5 (viii) 0
5 "
| By »f =8 : . .
Remember : Each of the numbers of the form h WL etc., is neither a simple
fraction nor a complex fraction; as the division by ‘0’ is not defined.

l“ LIKE AND UNLIKE FRACTIONS

Fractions having the same denominators are called like fractions; whereas the
fractions with different denominators are called unlike fractions.

o, B0 : :
e.g. (i) 8 8 8 etc., are like fractions.
2516 .24

(i) 2'9' 23’ 37" etc., are unlike fractions.

CONVERTING UNLIKE FRACTIONS INTO LIKE FRACTIONS

Steps : 1. Find the L.C.M of the denominators of all given fractions.

2. For each given fraction, multiply its denominator by a suitable number so
that the product obtained is equal to the L.C.M. obtained in Step 1.

3. Multiply the numerator also by the same number.

Example 3 :

Ch 3 g Z d*?-t like fractions
ange4,5.3an 16ole.' ons.

Solution :
Since, L.C.M. of the denominators 4, 5, 8 and 16 is 80.
R . 3x20 60 F 8x)5 48

4 4x20 80’ 5 5x16 80

37
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Gre e o 9 - 8x5 TElS
8 8x10 80 16  16x5 80
60 48 70 45
; : . ; 45 Nl
Required like fractions are : 80’ 80’ 80 and 80 (Ans.)

4.8 | COMPARING FRACTIONS

Steps : Convert all the given fractions into like fractions, then the fraction with the
greater numerator is greater.

Example 4 :
he trh gt e o e
Compare the fractions : & and -
Solution :

.+ L.C.M. of the denominators 3, 4, 12 and 16 = 48.

> 2xle 32 | 9 e e
3 #3165 = BB ’ = 4:17 T A8 Converting into
5 5x4 20 9 9% 3 07 like fractions
2 “T2x4 "3 W | 45 5 TG et
| . . . o e OB e
Since, the biggest numerator is 36, thus the biggest fraction is 18 (i.e., Z)'
Next one is —= (ie., =) and the smallest fraction is o (ie., —
ext one is 28 (e, = )yan e smallest fraction is 18 (e, 15
. Fractions inl ascending order of values are : e e and 2 (Ans.)
2 9 ‘12 15,8 A '
ot TR
ie. 75 <35 <3 <73
. ; : nd el 5
And, fractions in descending order of values are : 4’316 and 12 (Ans.)
S 28 Whe o5
O aé B dnd OB

Ascending means smaller to greater and descending means greater to smaller.

Alternate Method (By making numerators equal) :

Steps : 1. Convert all the given fractions into fractions of equal numerators.
2. The fraction which has a smaller denominator is greater.

Example 5 :
C '-2-2-2 dib king their numerators equal
ompare.3,4,12 an 16 y making their numera qual.
Solution :

Step 1 : Since, L.C.M. of numerators 2, 3, 5 and 9 is 90

2 . 2nds ol _ 3 . 3x%30 i
q 7 goisT a8 ’ 4 4x30 120
5 5x18 90 9 9%x10 90
Shel = —— and — = = —
12 12x18 216 16 16x10 160

38
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90 3
Step2: Since, 120 has the smallest denominator, the biggest fraction is 5~ 120 e, ).
As, ——= has the bi td tor, th llest fracti - e., L
' 216 as the biggest denominator, the smallest fraction is 7= 516 (1. 12
S& 0 R 3
. Fractions in ascending order are : d - (Ans.)
12’16’ 3 °
And, in descending order they are : gt 2 and 2 (Ans.)
4' 3’ 16 (b '
B 7

" In order to compare two fractions, say : E and = -+ find their cross-product, i.e., find
axdandbxc. Then, if :

(’) a x d Is greater than b x ¢ = % -3; (i) a x d is less than b x ¢ = % < %'
() & xdisequal to b x ¢ = .g. .5.,
Example 6 :
Compare the fractions : % and %
Solution :

Taking the cross multiplication we get : 3 x 18 = 54 and 7 x 13 = 91

Since, 3 x 18 (i.e., 54) is smaller than 7 x 13 (i.e., 91) . 133 178 (Ans.)

49| TO INSERT A FRACTION BETWEEN TWO GIVEN FRACTIONS

Steps : Add numerators of the given fractions to get the numerator of required

fraction. Similarly, add their denominators to get denominator of the required
fraction. Then simplify, if required.

Example 7 :
Insert one fraction between :
(i) . and 2 (i) 2 and 3-1—
2 2
Solution :

[Adding numerators and denominators]

(Ans.)
a+c a c
— and —
b+dliesbetweenb 3
e = &0 8 gbyp- .0
e b bid
9 7 1
-, — =23, 3- Ans.
2'3 2 2 fane.)
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Example 8 :
1 3
Insert three fractions between > and 5"
Solution :
g8 01 e | . S s
2'5 - 2'24+5' 5 [Inserting one fraction between 5 and 5]
i e
b v
I o e | | L
= 5'2+7'7'7+8' 5 [Inserting one fraction between 5 and 7
4 3
and one between :7- and —]
19 ol
= — — = — — Ans.
2’9’ 7°12'5 (Ang.)

EXERCISE 4(B)

1. For each pair, given below, state whether it forms like fractions or unlike fractions :

ol g B i el iy Ao
(i) 3 an 3 (ii) 15 and - (iii) 9 and
2. Convert given fractions into fractions with equal denominators
b 7 o o e 11
(i) 5 and 9 (i) 3'6 and 12 (iii) 5° 20 40 and 16
3. Convert given fractions into fractions with equal numerators
(_§ dE e e d_]_2_ D i o d4_5
heigicP s 1) J5028 adoyg« el qmmpy iR A09GHS
4. Put the given fractions in ascending order by making denominators equal :
1 2 3 1 A < o 4.8 20
() = = dRAE (i) = o == 8Na — S ae ol b
< HE 6 B o 1= 10 8- 1% 21
5. Arrange the given fractions in descending order by making numerators equal :
5 N 1 3 45 8 1T &ie 3
) — —, — and — N = == — g and —
W g 357 4 0 & W 709" 285590 W S0
6. Find the greater fraction
3 11 4 3 6 b
i) — and — i) — and — i) — and —
i o e R .y s
7. Insert one fraction between :
NERE 4 ¥ 8 e 6
(i) - and 9 (i) 2 and 3 (iii) 17 and 13
8. Insert three fractions between :
oo 4 e 5 Sordn 6
(i) 5 and 9 (ii) > and = (iii) 3 and 11
9. Insert two fractions between :
3 s 5 1 e A
0 1aw = 17 (i) 9 and 2 (iii) 6 and 1 5
40
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- OPERATIONS ON FRACTIONS

1. Addition and Subtraction :
(i) For like fractions, add or subtract (as required) their numerators, keeping the

denominator same :
1 5 1+5

_-+._-=

8 8 8
(i) For unlike fractions, first of all
do the addition or subtraction as above :
5 1 5 x 4 S :
[L.C.M. of 7 and 4 Is 28]

g T Vx4 Ax7?
Bhew ‘20 =713

3 B . p-3_6 3

L S A g
PN "uo: 10 10 = 6

change given fractions into like fractions and then

—

— -

28 28 s . .28
1_5><4-1x7 20—7__1_:1

. \
or, simply : ekt o8 i 28
B e e exiE  1XE ) CM. of4, 5and 3 = 60]

60 60 60 60 ~ 60
& FAE 3x15 +2x 12 - 1x 20
or, s1mp|y.z+§-§= 60
45 + 24 - 20 49
7 60 - 60"

2. Multiplication :

(i) To multiply a fraction with an integer, multiply its numerator with the integer.

4 x -7 - 28 13

3 5x 3 15_1 4 5 & » 5213
Sxi- 8 _B-1Band15x7_ 15 el | o 115'

(i) To multiply two or more fractions, multiply their numerators to
denominators separately together.

gether and their

3. Division :

To divide one quantity (fraction or integer) by some other quantity (fraction or integer),

multiply the first by the reciprocal of the second.
eg. () %+2=%x%=% [Reciprocal of 2 is -;—]
(i) 2+% =2x% =‘15£=3';' [neci‘pmcalof% is —g-]
(iii) '1%+I=;%x%=§z=:; and so on.
41
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4.11 | USING “OF”
The word “of” between any two fractions, is to be used as multiplication.

. 3 Sax. 2 3
0. — 0of 2 = =
G Thia
(i) %oﬂskg: B PR 2
3 3ex. 16

(iii) a ofT16 =X =12 and so on.

4.12 | USING “BODMAS” :

The word ‘BODMAS’ is the abbreviation formed by taking the initial letters of six
operations; ‘Bracket’, ‘Of, ‘Division’, ‘Multiplication’, ‘Addition’ and ‘Subtraction’.
| According to the rule of BODMAS, working must be done in the order corresponding
to the letters appearing in the word, i.e., first of all the terms inside Bracket must be
simplified; then Of must be simplied and then Division, Multiplication, Addition and finally
Subtraction.

g figh . 8 4 3 1
— + — — = — X == —+ 1
e (3 9J ol 15 b sl e
= 9 o 15 gF AN 5 irst step (B) : Simplifying the Bracket.
— §. f _8._ = i X E =i l 4 S I 0) : oY
= o) 15 0 A 9P econd step (O) : Removal of ‘Of
8 9% 3 1 ’ : <o . :
= Lh70 X Vi o Third step (D) : Division, ie. multiply by
reciprocal.
8 X 9% 1 1 B i
=&lo7 « A . D T Fourth step (M) : Multiplication.
1 1
— T T +‘ 1 ' i g
5 5 Fifth step: Aand S
— (Ans.)
Example 9 :
Evaluate :
. i &S 1 i 1 2 4
) 2— - = x1— — - - —
() 4 7 g 3 (i) 4 0f27 iy

Solution :

If required, convert the mixed fraction /fractions into improper fraction / fractibn_s, then
apply BODMAS and simplify. - s

. 1 ool 1
(I) 2'&-77)(13

X

=4

(Ans.)

X
N N|o

X

dlo Ao

4

5

4 O x et i 21
3

1
_4><5><3 _5_ _5_

42
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1 0t oA e 18 4
-— -—-— = = 0of — + =
(ii) 401‘27 T r 7 15
§ . 184
- 7% i A it
= —4—x1—-5—-=-1—5—=2-1— (AnS.)
: 7 7
Example 10 :
Evaluate :
- 115 1
e L B e L B i T R AV B
O 5*%%9 - e TRl (i 13- 16 2
Solution :
Remember : BODMAS
56 40 Ezéi]
W 3d:Llotd - 222 [w‘“g 135
TEEET e §.- 135
_4XE£_£=E (Ans.)
S8 A 14
.y B2 [Division (+) first]
T e .7 .0
3 4 x15 x 8 =_§g=11_! (AnS.)
£ BxTnd 21 21
e - E. W1 s | ]
LTl i i R T IR
W 3 25 x 16 x3 _ 20 Binis)
PR ANt s 7B x15x2 39

EXERCISE 4(C)

1. Reduce to a single fraction :

e
P sAE- 1 S
0 z%s L e [l 50
3 1
1 1 gt L P On e L
(iv) 15 +2I (V) 2 + 6 12 (vi) VLT 5
1 3
TR A Aciseks il o gl AR S yd g2
(vii) R * % (viii) 22 . 23 1 4 (ix) 4
2. Simplify :
3 2 LBt
R (i) 3 x15 (i) 773
B 4 - (vi) 36 x 35
™ =*3 B a 4
1 " ™ g_ (ix) 1 k¥ E
(vii) 2-‘_—*5 (viii) 3 = 5 T 5
43
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1 v ot WA e
3 g . 2O
jii) 3— X 1— X —
Sllly Ml o -
3. Subtract :
) 2 tom 2 . St D =2 o 2
(i) rom 3 (ii) g from 2 (iii) 5 from 5
: 3 3 4 o 4
(iv) - from = (v) 0 from 5 (vi) 9 from 5
W e ¢ 0
(vii) - from 17
4. Find the value of :
(i) i f10 k = I 15h i 2 f2-1—k
) 50 g (ii) s © our (iii) - 0 3 K9
(iv) 3l times of 2 met L f2g ) fi f 22 k
> of 2 metre (v) 5 O 3 (Vi) 17 © 5 © g
5. Simplify and reduce to a simple fraction :
3 21
Lo0n R el | 5
) —— Bs0 S e
(i) 4 (ii) - (iii) 5 (iv) B
4 7 10
(v) ——OfE 'Il Vi) 2_1. : lxl F _1_><4_,2__ 3_1X_1_
5. 1 ( 4775 WNigXies
i 1 3 8 4 7 8
— X 1= = — of 2= ' = — - - — -
(viii) 3 i (ix) 0 - 11 (x) 5 15 o 9
g e 8 s T 1 3 1
(xi) 57 15 X9 (xii) 5 of 59 (xiii) > of R T
_R

4.13 | USING BRACKETS
The types of brackets used, in general, are :

(1) ¢ ) is known as Circular bracket or Parenthesis or simply bracket.
(i) { }is known as Curly bracket.

(i) [ ]is known as Square bracket or Box bracket.

Sometimes a bar is drawn above some terms which we want to treat as a single
quantity.

eg., () 4+5 means(4+5) =9 () 8-3+2=8-5=3
(i) 3+8-6=3+2=5 and so on.
This “—" is known as Bar bracket or Veniculum.

Note : Multiplication sign is often omitted before a bracket and between the brackets.
eg., () 49-3)=4x(9-3)=4x6=24
(i) 2+8)(7-3)=(2+8)x(7-3)=10x4 =40

44
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[@34] REMOVAL OF BRACKETS
The brackets are removed in the order given below :

(i) —; bar or vinculum, (i) (), parenthesis,
(i) { ), curly bracket, (iv) [ ], square bracket.
Example 11 :

1 it
Simplfy : 10 -[85 +8 -7 -6- 4)}]

Solution :
, e e 3 T g
— Heg B | - (7 - 2 [+ 6 -4 =2]
102 _32 +{6 - ( )}]
B el - 5}] [+ (7-2)=5]
R 2
1 1 .
B 0 8= +1 .. {6 -5} =1]
102 [82 +:| | ; |
’
£ e -.-3—-+1=9-]
= 102 92 g 2

1 (Ans.)

EXERCISE 4(D)

Simplify :

# 1 5
. (345+(3-1) o Satsl-21): (25 -2
2 3 g 9 5 L 2

:

1 4.3 ;2 SR R ML

9 10-8— fE_-SE f'4_9 1(:"54 4 15'4"'235'125
3 3 3 b
11 Id7-— — 315
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4.15 | PROBLEMS INVOLVING FRACTIONS

Example 12 :
What fraction is 6 bananas of four dozen bananas ?

Solution :
Here 6 bananas are to be compared with 4 dozens /i.e., 4 x 12 = 48 bananas.

6 1

Required fraction = T (Ans.)
Example 13 :
Write all the natural numbers that lie between 5 and 15.
() How many of these natural numbers are odd ?

(i) What fraction of these natural numbers are even ?

Solution :
Since, natural numbers between 5 and 15 are : 6, 7, 8, 9, 10, 11, 12, 13 and 14.
There are 9 natural numbers between 5 and 15. (Ans.)

() Out of these natural numbers, odd natural numbers are : 7, 9, 11 and 13.
There are 4 odd natural numbers between 5 and 15. (Ans.)

(i) Out of all the given 9 natural numbers, 4 are odd.
Remaining 9 — 4 = 5 numbers are even.

So, the required fraction = —g— (Ans.)

Example 14 :

The monthly income of a man is ¥ 18,000. He gives one-third of it to his wife and
one-third of the remaining he spends on his children’s education. Find :

(i) the money he gave to his wife.
(i) the money he spends on his children’s education.
(i) the money still left with him.

Solution :

(i) The man gives to his wife = % of ¥ 18,000

% x T 18,000 = Z 6,000 (Ans.)
(i) Since, remaining money = ¥ 18,000 — ¥ 6,000 = ¥ 12,000

He spends on his children’s

education = —;: x ¥ 12,000 = —% x ¥ 12,000 = X 4,000 (Ans.)
(iii) The money still left with the man
= 12,000 - T 4,000 = ¥ 8,000 (Ans.)
46
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Example 15 :
1 3 N2 7
Subtract the sum of 2 and 8 from the sum of 32 and 12
Solution :
1 3 1 3 2 + 3 5
*'SUmOf—-and—- = - — = -
' 4 R e 8 8
s 3 7 2. i3 7 8 +9+7 24
d, s - - — ==t - 4 — = = — =2
T 12 3 & 12 12 12
5 2 5 16 - 5 11 3
.. Required I‘Il.lmbor-2—8 . " & = 2 =1a (Ans.)
: 2 3 7 1 B 8 +9+7 " 2 + 3
or,dlrectly,(§+4+1—2-] (4+§]- ( 1% ] ( 8 )
eyoEh 9
i o '3
aSadlede. 1 w43 . (Ans)
24 24 8

Example 16 :

2
A man spent 7 of his savings and still has ¥ 1,000 left with him. How much were
his savings ?

Solution :

2
The man spent 7 of his money.

2 S
. He still has 1 - 7 =73 of his savings

l Note : In fractions, the whole quantity is always taken as 1.

5
Since, 7 of his savings = ¥ 1,000

5

7
His savings = ¥ 1,000 = - - T 1,000 x 5 = < 1,400 (Ans.)

Example 17 :

1 R
; of a pole is in the mud. When 3 of it is pulled out, 250 cm of the pole is still in

the mud. What is the full length of the pole ?

Solution :
4 1
7 of the pole — 3 of the pole = 250 cm
. s
= (; o 5‘] of the pole = 250 cm
5 hediniat2 7. 5]
=> 21 of the pole = 250 cm T 21 21
‘ 21
= Length of the pole = 250 x - cm = 1050 cm (Ans.)

47

Downloaded from https:// www.studiestoday.com




Downloaded from https:// www.studiestoday.com

EXERCISE 4(E)

11

&

10.

134

-4

A line AB is of length 6 cm. Another line CD is of length 15 cm. What fraction is :
(i) the length of AB to that of CD ?

1
(i) % the length of AB to that of 3 of CD ?

1
(iiiy — of CD to that of AB ?

5

2 S 5 7/

£
Subtract [-_; 21] from the sum of Z’ ; and -1—5.

From a sack of potatoes weighing 120 kg, a merchant sells portions weighing 6 kg,

1 1 3 _
52 kg, 95 kg and 9 4 kg respectively.

(i) How many kg did he sell ? (i) How many kg are still left in the sack ?
1 1 1
If a boy works for six consecutive days for 8 hours, 75 hours, BE hours, 6: hours,

3
SZ hours and 7 hours respectively. How much money will he earn at the rate of

< 36 per hour ?

1 1 2
A student bought 4-5 m of yellow ribbon, GE m of red ribbon and 33 m of blue

ribbon for decorating a room. How many metres of ribbon did he buy ?

2
In a business, Ram and Deepak invest 5 and 5 of the total investment. If T 40,000

is the total investment, calculate the amount invested by each.

2
Geeta had 30 problems for home work. She worked out 3 of them. How many
problems were still left to be worked out by her ?

3
A picture was marked at ¥ 90. It was sold at 5y of its marked price. What was the
sale price ?

Mani had sent fifteen parcels of oranges. What was the total weight of the parcels, if

1
each weighed 105 kg ?

1 1
A rope is 255 m long. How many pieces each of 1 > M length can be cut out from it ?

1 1
The heights of two vertical poles, above the earth’s surface, are 14: m and 22—5 m

respectively. How much higher is the second pole as compared with the height of the
first pole ?
1

1 2
Vijay weighed 655 kg. He gained 1— kg during the first week, 1 4

5

5 .
second week, but lost 16 kg during the third week. What was his weight after the
third week ?

kg during. the

48
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2 3
13. A man spends 5 of his salary on food and 70 °N house rent, electricity, etc.

What fraction of his salary is still left with him ?

2 3
14, A man spends 5 of his salary on food and 10 of the remaining on house rent,

electricity, etc. What fraction of his salary is still left with him ?

1
15. Shyam bought a refrigerator for T 5,000. He paid 0 of the price in cash and the rest

in 12 equal monthly instalments. How much had he to pay each month ?

1
16. A lamp post has half of its length in mud and 3 of its length in water.

(i) What fraction of its length is above the water ?

1
(i) If 35 m of the lamp post is above the water, find the whole length of the lamp post.

3 .
17. | spent 5 of my savings and still have Z 2.000 left. What were my savings ?

4
18. In a school; 5 of the children are boys. If the number of girls is 200, find the number

of boys.
4
19. If 5 of an estate is worth ¥ 42,000, find the worth of whole estate.

i 3 .
Also, find the value of 2 of it.

3 . :
20. After going 2 of my journey, | find that | have covered 16 km. How much journey Is

still left ?

3
21. When Krishna travelled 25 km, he found that 5 of his journey was still left. What was
the length of the whole journey.

e

49

Downloaded from https:// www.studiestoday.com




	039_L
	040_R
	041_L
	042_R
	043_L
	044_R
	045_L
	046_R
	047_L
	048_R
	049_L
	050_R
	051_L
	052_R
	053_L
	054_R



